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—,[S B=3 A can do a piece of work alone 1@ B is 25% less

h&=n | 5(‘1/[4 efficient than A, while C 1@ Jnore efficient tfﬁatﬁ B. In
34— how many days can A, B and C, Worklng together, complete

the work?

A Freher forelt ST aht 30 T ¥ T R ARaT 21 B, A § 25%

U HITCA §, Ttk C, B | 33.33% 3Tk HI 1 A, B 3R C

Teh T T A g0 e famt & ohmer o o weRd 22

a. 150/11

b 12071]

c. 140/11

(M) d. 130/11
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A person has some coins of Rs.10, Rs.5 and Rs.2
denominations. The ratio of the products of the numbers of
Rs.10 and Rs.5 coins, the number of Rs.5 and Rs.2 coins and
the number of Rs.2 and Rs.10 coins is 3:4:2 respectively. What

could be the minimum amount of money this person has?

Teh AR o UTH 10 TU, 5 TUA 3R 2 TqF o1 & HS Hkeh
F1 10 U 311 5 TN & Frarent Y T, 559 3R 2 TUT &

S ( TorereRT <hY WAT 3T 2 TUY 3T 10 TUH ok kRl il G&AT
51 a TUTTTHET ShT STTUTA SHAST: 3:4:2 §| 36 SATwh o UTH qAqH feha1
\? ey 30% 30% B W@Tﬁm%"
2 ot SR

a. Rs.52
GB\‘ b. Rs.88

- Min ok k=1 o)
- 6Dx F?é@m
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A man can row downstream at a speed of 15 kmph and
upstream at 11 kmph. Find his speed in still water and the

sped of the current, respectively (in kmph).
Teh JTTEHT &Y o STTher 15 TR T g &Y 7ifd & 3R amT e

uﬁmnﬁmﬁuﬁraﬁsﬁnﬁﬁmwm%mqﬁrﬁ
Fereh TR 3T e <Y IR SR (feret wfr wie W) 71ma <hifsm)
a. 13,5 de, = IS

b. 11, 4

[ c. 13,2 YL_M

d. 13,6
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The current average age of a family of five members is 24. If

the present age of the youngest member in the family is 8
years, what € average age family members just

ﬁmﬁ%wﬁaﬁnﬁmsa&?ﬁwmﬁm
éalwﬁa%mﬂcrﬁaﬂﬁmaw‘rﬁaﬁw AT T oft?

‘})@, a. 24 years

kb 20 years)
c. 28 years

d. 16 years
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The length of each side of a square is twice the radius of a
circle. If the radius of the circle is 7 cm, what is the difference
between the areas of the square and the circle (cm square)?
Tk T <hY Tedieh WSTT <Y otard o <ht e i St R Al
CIRESE]) 7ﬁn°r§ﬂgtaﬁ SR I (WHT M) o ST ok S T

=Y
Y

pu—
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p&3
<60 ~2’Z) (2}; )

)

—

A-45

[80~-3x=& %90

b x= 330

A solution of 45% alcohol is mixed with a solution of 60%
alcohol in the ratio of 2:3. In what ratio should the resultant
solution be mixed with a 72% jalcohol solution to get a 66%
alcohol solution?

45% ITTIRIEA oh I il 60% IHehIEeT o Tt | 2:3 o STTUTT
o THeTT SITaT 81 66% STeehiget OTet UTH ohid oh {oTU TTUTTHT
T Sl 72% Heehigel "Iet o el forer tuta # forerman srn

ATfRW? 59/ 1Ly

a. 4:7 66/![

b. 1:3 1

c. 1:2 @9 ¢ :x

d. 2: @ Aﬂ
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\ AL NES The value of a stone is proportional to the square of its weight.
A stone worth Rs. 120000 is broken into two pieces in the ratio

of 2:3. What is the total price of the two small pieces?
Tk UeeR ST Ued I ek ST o ST oh THTUTAT 21aT g1 120000

Wn—a%wmﬁz 3%Wﬁﬁmﬁaﬁaw%l
a‘r@ﬁicmsﬁﬁ@m EﬁTIFrEF&IT%" 3(%3
a. Rs.68400

b. Rs.62400 | P8 ’ X& 5( 31
%oomj |

) 2 d. Rs.65400

= 63400
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The side of a square is increased by 25%. What is the

percentage increase in its area?

Teh o Sl WSIT 25% oG ATAT 2| 39k ST H {ehed TTA9Td Al
ELERER S

a. 62.5% +]

b.57.5% Ard-

c. 50% A

d. 56.25%
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Puneet sold an article for Rs.1750 at a loss of 50%. If Puneet
sold the article at a loss of 30%, what will be the selling price?
Tt ¥ Uk 6 R 50%) 8T W 1750 S0 Srem af g |
argﬁmém, at forshar o @ g

a. Rs.2640 350

b. Rs.2180

F58 v,
e rs24s0 s % 8%

d. Rs.2100 :i $L5 6
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The traffic lights at different road crossings change after
every 48 sec, 72 sec, and 108 sec, respectively. If they all

change again simultaneously?

ot ageh SRIET W ¢Ttheh @18 :
3T 108 Uehs oh T Ige ATl g1 A A

Q@& Lem (4B, 39 IOB>
b. 8:33:32 am
c.9:12:18 am Ty \2seC.

d. 8:40:14 am Q) 1 Q\l 2L gk
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The marked price of an article is Rs.840. The shopkeeper

gives a discount of‘on the marked price and still makes a
profit o [‘@ What is the cost price of the article?

Teh 9] T 3 fohd Ao 840 TUA 3| THMER 3 fohd Toa W 15%
T T ST TR 9t 19 1 AT KTt 31 g 1 AT

e T 32 Qlo S
a. Rs.580 \—%XJ%/)
b. Rs.540 v X5

c. Rs.600 ==
d. Rs.640

-
= Ty
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The average marks of S students is 85. If the marks of a new
student are also considered, the average marks becomes 84.
What is the marks obtained by the new student?

5 BTAT ok A 37eh 85 B1 A Ueh AU BT ok 2ieht W ot o=
foran sTU, At sfrea 3 21 7T BT ZRT ATH 37k AT 32

&)
[ R R ~
c. 78 g5 @

d. 81
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A bought a bag and a bottle for a total gl: Rs.900, He sold the bottle
at a profit of 12% and the bag at a profit of 20%. If he earned a

5 8o total profit of 160.80, calculate the cost price of the bottle.
———9(!6?9A et 900 U H Teh T R Teh Fiaet TG I8 Tde bt 12%
g%mm 3R ST 3R 20% o TTH U o= 3am afg 36 160.80 T HeA

3
~+€€%b T rfta forar, @t afdet ot emTe geur <Ry TurET )
% a. Rs.320 Bﬂg Botile Qo

o?

b. Rs.300 30y, 12 D

EB /e Rs200 /

S e R y S
R0

R, %

[ (B0

S
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The length of each side of a square is 15 cm. What is the

y | SSC MTS 2023 — MOCK TEST 4 (MATHS) |

perimeter of the square?

U T hT Tk SIS Sh @18 15 THT 81 3T ot UiATT oIt §2
a. 80 cm

b. 70 cm P- \§>([7

c. 60 crg/ = o Chy

d. 100 cm
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M is inversely proportional to N. If M is 20, N is 70. If N is 50,
what is the value of M?

M, N % STChATIUTAT §1 AfE M 20 &, a1 N 70 31 afE N 50 &,
M hT UTH RIT 82 (

a. 20 Mg

b. 700 MH;(U?LS‘\.

( c. 28 ‘
d.
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/ Wz X5 +b3<§)><3 A project can be completed by 2 men and S women in 8 days
| : while 4 men and 6 women can complete the same project in 5
qm+5 @ XB = ) . L
_ days. How many men will be required to complete this project
Qm'%“)Xb in 4 days?
_ @—g)o m {20_@w@wﬁaﬁwaﬁzwaﬁisnﬁﬁmsﬁﬁﬁwmm%
SR 4 69 R 6 ATEEITE IHT TRATSHT &t 5 &1 7 g o
= Uy oo wEE E afET w4 R i o e i forg Ry gt

U2y
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A boat can travel 18 km in 3 hrs while going upstream, and 40
km in 4 hrs while going downstream. What is the speed of the

boat in still water (kmph)?

Tk AT a7 o Tidehel ST TR 3 ¥ 7 18 fordft iR amr a6
Wﬁﬁmwﬁﬁ 40 TRHT <R ITAT R FewdT B1 I AT
ﬁmﬁnﬁr(%ﬁuﬁrm)w%‘?

@ u:IBM GL/K X

b. 10

c. - okmc o
d.96 dﬁ L %
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